
Step 3 Ben Fikkert big doily

This and the matching medallion on the opposite side of the center are tatted as part of
a longer edging which surrounds and attached to the center motif of step 1 and the
matching medllions of step 2.

Start at the cloverleaf  indicated, work the side medallion (C) return to the center and
begin working down the sides of the Step 2 medallions.

Clover
R 3 - 3 - 3 - 3 - 3 - 3 clr dnrw leave no space
R 3 + (join to last p of previous ring) 3 - 3 - 3 - 3 - 3 - 3 - 3 clr dnrw leave no space
R 3 + (join to last p of previous ring) 3 - 3 - 3 - 3 - 3 clr rw
CH 15 + (join to middle p from ring on center motif)
CH 15 - 6 rw

R 3 - 3 + (join to middle p of previous ring) 3 - 3 - 3 + (join to 5th picot of the center
ring of the clover) 3 - 3 - 3 - 3 - 3 - 3 clr rw
CH 6 - 15 - 6 rw

Clover
R 3 - 3 - 3 + (join to 4th p of previous ring) 3 - 3 - 3 clr dnrw leave no space
R 3 + (join to last p of previous ring) 3 - 3 + (join to 5th to last p of the larger ring
adjacent)3 - 3 - 3 - 3 - 3 clr dnrw leave no space
R 3 + (join to last p of previous ring) 3 - 3 - 3 - 3 - 3 clr rw
CH 6 - 6 rw

R 3 - 3 + (join to next to last p of previous ring) 3 - 3 - 3 - 3 - 3 - 3 - 3 - 3 - 3 - 3 clr rw
CH 6 - 6 rw

Clover
R 3 - 3 - 3 + (join to last p of previous ring) 3 - 3 - 3 clr dnrw leave no space
R 3 + (join to last p of previous ring) 3 - 3 - 3 - 3 - 3 - 3 - 3 clr dnrw leave no space
R 3 + (join to last p of previous ring) 3 - 3 - 3 - 3 - 3 clr rw
CH 6 - 6 rw

R 3 - 3 + (join to next to last p of previous ring) 3 - 3 - 3 - 3 - 3 - 3 - 3 - 3 - 3 - 3 clr rw
CH 6 - 6 rw

In mirror image fashion complete the next clover, large ring and clover. RW when last
ring of clover is closed.
CH 6
Using one shuttle only, measure for mock picot
inner ring 14 close tightly,



onion ring around the inner ring with 3 ds between joins using the special onion ring
join
(note that  you many find it easier to rw the work and work these rings in rods), return
to shuttle to chain position when done.
CH 15 + (join to p of chain opposite) 6 rw

Repeat 6 + (join to p of chain opposite) 15 + (skipping one ring, join to a center p of
the next ring of the center motif. 15.

Side motif finished.


